
Figure 16-1: Profit-maximizing output 
under monopoly 
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Figure 16-2: Profit-maximizing output 

under duopoly
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Figure 16-3: American and United’s best 

response curves


48

64

96

192

64
0

96 192

qA, Thousand American passengers 
per quarter

American's best-
response curve

Cournot equilibrium

United's best-
response curve

q
U
,T

h
o
u
sa

n
d
 U

n
it
ed

 p
as

se
n
g
er

s 
p
er

 q
u
ar

te
r

Image by MIT OpenCourseWare.



MIT OpenCourseWare 
http://ocw.mit.edu 

14.01SC Principles of Microeconomics 
Fall 2011 

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms. 

http://ocw.mit.edu/terms
http://ocw.mit.edu

